EARAROBREBRT —5 XN—ZXBISH—F 202445888 (K) AOEH1H

m B2 Y>%R4®kE (s | memE - | 9 w0 s
[AXE%&]) 1 &:1,300,000  ~ 23&:455,000 33#%&:260,000H . 43#&:19,000 5 & :130,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
===z v 4 | BEAOR 2:08.8 3-3-3-3 [39.1] - 3| 462 |HIFHED @EH)
1011 |AF>7)L¥10O 74| 5.0 - Ca | @B HBL—2K—2
RiFAIXIv— B:PPFIRI9-X #HBEI77—LA
o s 4 | IZEEX 2:09.1 4-4-4-4 | 39.2| — 2 49 | ENTE ()
2 3 HU—N\> 56.0 (1172 (2 |EBHDFE
RZANOVIUI—Y BFIRAP—Zv ST e
= ShEE : -2-2- - IRAFI (7
3 6| TARILTSHY # 4| gH 2(90?:; 2-2-2-2 | 39.5 1 (4_935) et Gzl
RO—IRAVAA B:ox—T) BHREM I —RI—RT7—L
=S¥ = s 5 | BE®T 2:09.9 1-1-1-1 | 40.4| - 4 | 473 |MFEE (BH)
4 2 =)= 54.0 (5) (#3) (¥) BEIHE
Rib—€YS— 8§:R/—05Th MEZ ST R
= 6 | AHEH 2:10.1 6-6-5-5 |39.9| — 6 527 | EBEX (k)
507|7|>0914vL " 5.0 (3/4) #5) ®) J PN
RIFVIARANRN B:OAVIAVINT b [N e
— o6 | HEE= 2:10.4 5-5-7-7 | 40.2| — 5 | 515 |iEEEE (EH)
6 4| 94=— 56.0 @ 6 |18 AR MEE
RINNVTSY BiL—YLAT tTHES
)T~ 1S S m EREsE 1. A - RISFE (BH)
715|5 | YYTVRTY "9 56.0 2(171)5 Tree A ¢ (4375) /M%%i(
RiYF—ZUTPY BRTIIAEU— TVTS5TT— I
@ 1—F—&RIEL
13—7F— 2,6,1,3,4,7,5
20—F— 2,6,1,3,4,7,5
30—— 2,6,1,3,7,5,4
43—F— 2,6,1,3,7,5,4
o ILRE
BB 1 4708 | [ D4 R 1-3 170M B & 1-3 5804 3EE 1-3-6 290M4
B B 1 200 1-6 210 =51 =3 1,820 3EH 1-3-6 3,180M
3 1309 3-6 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.



